D ERRBERIE AT LEHEE R4.31IH7E
g 5z | &R HF 12 4 HEEA IREAFHR %
1{dtiEE LR 140,001]  100.0%
[E&:3E EKEETH 15,049  100.0%
1[db:EE AB)II T 21,665 100.0%
1[dbE R 7,789  100.0%
[1El%:=3E b4 -l 271]  100.0%
[1E[&:3E ERIR™ 5812  100.0%
[1E[&:3E HEST 2,287  100.0%
[E& 3 B 1,167 100.0%
1{dtiEE =N 13,146  100.0%
(B3t ESEDT 1,010  100.0%
1[dbfE LAl 8,689 100.0%
1{dtiEE FREH 441]  100.0%
[1E[&:3E BRI 1,250]  100.0%
[E&:3E AFm 1,838  100.0%
[E&:3E =%t 501]  100.0%
1{dtiEE RB=Em 1,564 100.0%
1[db:E FEh 8,008 100.0%
1[dbfE &)t 3,252]  100.0%
[1E[&:3E i)l th 934]  100.0%
[1E[&:3E Z Rl 2,924]  100.0%
1{dtiEE BERETh 5,690 100.0%
1[dbmE ELET 4.336] 100.0%
1[dbE A¥FFmHh 4548 100.0%
1[dbE =R 812 100.0%
1{dtiEE EEN 193]  100.0%
1[dbiEE R EHE 136]  100.0%
[E[#&:3E + 8RHET 2,025  100.0%
[ E[%:3E EE ERET 238 100.0%
1dbEE B3 [ BT 193]  100.0%
1dbEE S&Hr 311]  100.0%
[ El&:3E FF HRET 178  100.0%
[ El#::3E EWNET 208]  100.0%
[E[#&:3E BRI AT 286]  100.0%
[ E[&:3E ERGEN 223  100.0%
[ E[%:3E =% A ET 111]  100.0%
1db:EE IR ABET 218]  100.0%
[ El&:3E EEIER] 1,201]  100.0%
1[dtEE HFNET 396/ 100.0%
[E[#&:3E {= AHT 239]  100.0%
[ E[%:3E ShET 1,107 100.0%
[ E[%:3E A IR T 429]  100.0%
1[dtiEE H{ZHT 283  100.0%
[ El#:3E £iQET 700  100.0%
1[dtiEE LT 721]  100.0%
[E[#:3E A RHT 130]  100.0%
[E[#:3E EEIHT 117]  100.0%
[E[#:3E 2T 468|  100.0%
[ E[%:3E ;B EET 152  100.0%
1dbEE [EE R BT 524] 100.0%
[ El#:3E = Al BT 152]  100.0%
1db:EE L 'E B FFH] 760  100.0%
[E[#&:3E S 52| 100.0%
[E[#&:3E T JIET 199]  100.0%
[ E[%:3E =5 RITET 178  100.0%
[ E[#%:3E KigHT 197|  100.0%
1dbEE A I BT 184  100.0%
1dbiEE R A1 BT 95|  100.0%
[E[#&:3E 2= 266/ 100.0%
1[dbiEE FI R ET 108]  100.0%
[E[#&:3E PR = T 169 100.0%
[ E[%:3E % SE 173]  100.0%
1db:EE EIRET 1,243  100.0%
[ El&:3E L 244]  100.0%
1[dtEE FIEHT 825] 100.0%
[E[#&:3E EEET 302]  100.0%
[ E[%:3E /N 7K BT 335  100.0%
[E[#&:3E Sl F BT 368] 100.0%
[ E[#:3E & P HT 168]  100.0%
[ El#:3E 1% = el BT 324 100.0%
[ El&:3E B ERHT 268| 100.0%
[ E[&:3E It ECHT 298]  100.0%
[E[#:3E KZEHT 621] 100.0%
[ E[%:3E = RAT 202 100.0%
[E[%:3E =EA:] 727  100.0%
1db:EE [EEHT 352]  100.0%
&30 sH AT AT 790  100.0%
[E[#&:3E =S RET 3,783  100.0%
[E[#&:3E SH I T 286]  100.0%
1]dtiEE [EFHT 579]  100.0%
[ E[%:3E =k 3771 100.0%
[ E[#%:3E =M 375 100.0%
[E[#:3E 7 E1ET 328] 100.0%
=3 TR 24,725  100.0%
1| EHFE =r il 18,953]  100.0%
1| EHE J\PTh 16,284]  100.0%
1|1 5EH&E &\ 4 BT 211]  100.0%
1|1 EHE Nl 387] 100.0%
1| EHE BLER 419]  100.0%
1|1EHE AR 85|  100.0%
= A#Eh 2,441]  100.0%
1I5FE =Eh 1,692]  100.0%
I5FE8 ZRT 1,912]  100.0%
1|5FE By 8,150 100.0%
1=5F8 =F 718]  100.0%
12FE el 2,145  100.0%
E=Ea 5 P E R 241  100.0%
15F8 & /7 IBHT 1,164]  100.0%
I5FE SR ET 529]  100.0%
5FE8 RHEHT 716]  100.0%
115F8 LLI FH BT 876] 100.0%
1|2FE SEESZCED) 218  100.0%
12FE FFEA 272  100.0%
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D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA IREAFHR %
5FE8 NEF 351  100.0%
15F8 FEEPHT 953|  100.0%
1|=EHE TEHE 40,070/  100.0%
1|=ZHE L&t 80,351| 100.0%
1=EHE IE&E™H 3,539 100.0%
1=HE =E=kiil 2,205 100.0%
1 =EHEE ZEWEH 4,958  100.0%
1= E Xt 5,501  100.0%
1= E EAT 5,746]  100.0%
1|=EHE =R ) 2,508 100.0%
=R JJ:T:ET 703  100.0%
1| =HE N 790|  100.0%
1| =HEE £ 4] 1,278]  100.0%
1 =EHEE ¥ i BT 3,299]  100.0%
1= E PNl 540]  100.0%
1|=EHE NES:] 1,536 100.0%
=R %I BT 304/ 100.0%
1[FAEE AEET 4.168]  100.0%
1[FAEE BREEh 1,202]  100.0%
1FEE EAT™H 1,939  100.0%
1[FREHE HFIARFET 4959 100.0%
1FEE L BT 1,597] 100.0%
1FEE /N3 BT 239]  100.0%
1[FEE FliZHT 857/ 100.0%
1[FAEE B RCE AT 129]  100.0%
IR KR 5,787 100.0%
1L R JEEM 6,682] 100.0%
LR EiiIm 3,212  100.0%
A= Eiuh 1,768]  100.0%
[ngAas =il 1,801] 100.0%
1[IUFE el 2,189]  100.0%
1L E L1320 BT 1,093|  100.0%
IR H L BT 765  100.0%
1 LLIHZE sl AL BT 1,245  100.0%
[N £ LAY 354 100.0%
[ngAas =-LHT 564 100.0%
LR pomial 325/ 100.0%
IR BE=)I[HT 438]  100.0%
1[ILz 8 Kt 228 100.0%
1{IUFE &)1 43 251 100.0%
1L E PR 237| 100.0%
IR =5 1,807 100.0%
IR =1 949 100.0%
1[IUFE L 1,458 100.0%
1{EEE EEE 38,956 100.0%
2B 8 LU 24,426  100.0%
1EEE LbhEh 24,021]  100.0%
1EEE AEIH 6,011] 100.0%
1{EER FEHEET 3,124] 100.0%
1EEE FEH 3,870/ 100.0%
1{EEE SZPrHT 777]  100.0%
1{EEE = R ET 494]  100.0%
1fRER XEH 794]  100.0%
1{EEE BAH 1,074]  100.0%
1{EEE HEH 233]  100.0%
1{EER SEIRTH 1,026 100.0%
1{EEE SEEEH 1,261 100.0%
1{EEE SR £ 540 100.0%
1{EEE iﬁm 569  100.0%
1288 iz )11 &1 219]  100.0%
1{EEE Al HT 970  100.0%
1{EER EINESS 493|  100.0%
1{EER ERF 416] 100.0%
1{EEE X JIET 476]  100.0%
1{EEE o BXET 362] 100.0%
1{EEE [LEFET 253  100.0%
1EEE I 147]  100.0%
1{EER JIRAA 77|  100.0%
1{EER SEILHT 31  100.0%
1{EEE Fih T 617] 100.0%
1{EEE BREERT 59| 100.0%
1R E KE™ 19,298]  100.0%
1R S Hirm 11,464  100.0%
1|ZRIEE i@t 9,876/ 100.0%
1| ZRE o 10,168  100.0%
1R E AlEh 4787]  100.0%
1Rk 2 i 3,894  100.0%
1R E BE BT 5,348]  100.0%
1ZRPE T=H 3,226/ 100.0%
1| ZRIE with 4583 100.0%
1| ZRE wEEXKET 2,753  100.0%
1| ZREE g3 2,814 100.0%
1R E LRt 5,353]  100.0%
1Rk 2 WEH 6,642]  100.0%
1|ZRIE HAh 6,905/ 100.0%
1R E KIEm 21,837 100.0%
1|ZRE UDi=bihmh 12,231]  100.0%
1| ZRIE SFAT™H 6,164 100.0%
1| ZRE wEXET 2,501 100.0%
1R R R 3,921 100.0%
1|ZRE il 7,161]  100.0%
1|ZRIE RE™ 3,880  100.0%
1|ZRIE LS 2,272]  100.0%
1| ZRIEE )T 2,742]  100.0%
1| ZRIE i 7,543]  100.0%
1| ZRIE $2HE™H 3,006/ 100.0%
1|ZRIE HKIEHABL T 4729 100.0%
1|ZRIE INEET 3,593  100.0%
1R % 35 BT 2,138  100.0%
1| ZRE BB 3,443] 100.0%
1|ZRIE AT R BT 3,694 100.0%
1R R SA] N ET 400  100.0%
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D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA IREAFHR %
1|ZRIE J\TFHHET 1,529  100.0%
1| ZRE HEEHET 490  100.0%
1|ZRIE 1EHT 1,826 100.0%
1| ZRIE FI| 45 BT 849| 100.0%
1#ERE AR 39,148| 100.0%
1 HEKRE FHE=ET 39,957 100.0%
1HERE BFIH 9,723  100.0%
1HRERE AT 11,094  100.0%
1#EARE E%mh 8,074| 100.0%
1HERE 8t 7,107]  100.0%
1#EARE IR 13,033]  100.0%
1HEARE BT 6,565 100.0%
1HEKRE e il 2,134]  100.0%
1HERE ARZEIE R T 9,112  100.0%
1#EARE Kbh 3,854| 100.0%
1HERE MBS LT 1,613]  100.0%
1HERE TEmh 4725 100.0%
1HEXRE =T 2,588 100.0%
1HERE 5 FHT 1,724]  100.0%
1#EARE FAHT 3,046] 100.0%
1[#EARE FFARHT 1,855| 100.0%
1HRE RN 621]  100.0%
1HEARE =R R ET 2,153  100.0%
1HRERE BB 3a]) 1| ET 859/ 100.0%
1EER BB 24,.412]  100.0%
EHEE =&t 29,497]  100.0%
1EER EEST 7,281]  100.0%
EHEE R2IETH 17,332]  100.0%
1HEEE BETT 3,173]  100.0%
1HEEE fEMTH 5,497 100.0%
1|1HEE )t 4958 100.0%
1EEER & i 4506 100.0%
1EER =Rm 3,375] 100.0%
EHEER Rt 3,623]  100.0%
1EHER HEYTH 3,877 100.0%
1EER BER 1,141  100.0%
1HEER = ) AT 2,110/  100.0%
HEEER T{ZH 226/ 100.0%
1EEER At 224  100.0%
1EEER JI3&# 248|  100.0%
1EHER RBFOAT 514] 100.0%
1HEEER FEL O FHT 953  100.0%
1HEEE FEHET 2,532 100.0%
1BEEE R HT 981] 100.0%
1EEER BH FOET 823| 100.0%
EEER T HET 821]  100.0%
1EHER KRHET 3,041  100.0%
1EEER 2 ZEHT 1,826 100.0%
115EE SL=FETh 103,362]  100.0%
115EERE JI#H 27,325 100.0%
1FEEE REAT 13,703]  100.0%
1EEE BR™ 4.292]  100.0%
1BEEE FriR ™ 24,049] 100.0%
11FEE BREETH 5212  100.0%
1EBEER fnZEmh 8,064 100.0%
11FEE AEH 5,580 100.0%
115EERE U 9,804| 100.0%
1FEE PAETF 3,645/ 100.0%
1IBEER JBETH 8,442]  100.0%
1EEE ERT 10,691 100.0%
1IFEE Emh 17,909]  100.0%
11FEE Ha™ 26,440| 100.0%
1BEEE BRTH 4501 100.0%
115EE FHM 11,786]  100.0%
1EEE ARTH 10,506  100.0%
1EEE EAKH 5,861 100.0%
1BEE Mpkm 6,256 100.0%
1WEBEER HEEH 13,057[ 100.0%
1IBEE AET 10,445 100.0%
115EERE X 4165/ 100.0%
FEE EtRh 8,411] 100.0%
1EEE =i 10,572]  100.0%
1EEE FH™H 4183 100.0%
1BEE kRE™ 7.617]  100.0%
11FEE =Fth 3,289 100.0%
1BEEE tEyEmhm 4887 100.0%
1FEE Ham 4254 100.0%
1EEE Sl 6,471]  100.0%
1EEE SLAFHH 9,046/ 100.0%
11FEE eA=1111:)} 1,952]  100.0%
1BEE ;B I BT 1,782]  100.0%
11FEE Ja LU BT 1,057 100.0%
115EE & LI BT 616/ 100.0%
1BEEE EENHHET 602]  100.0%
1EEE Rl 549]  100.0%
1BEEE =tadil 638] 100.0%
1BEE KR ET 430 100.0%
1BEE N 750|  100.0%
1EBEEE EX 30 116] 100.0%
1BEEE EXA) 769]  100.0%
1BEE )[BT 909]  100.0%
1EEE BT 2,344]  100.0%
1BEEE FEHET 2,018 100.0%
11FEE = K HT 2.203]  100.0%
1BEE 2 FEH 3,105/ 100.0%
TFEER FEm 71,240|  100.0%
| FEE k¥ 3,990] 100.0%
| FEE il 31,660] 100.0%
1| FEE a¥ET™ 50,592| 100.0%
1| FEE AEEH 10,671]  100.0%
1| FER FHET 11,386 100.0%
FEER KR 5,695/ 100.0%

REEAEL FRICEITDELRICTIRIEDE[HFRR (3)

3/18



D ERRBERIE AT LEHEE R4.3.1I87E
B 5z | &8 HF 12 44 HREES IREE#EHR %
TFEE BHETT 10,595] 100.0%
1| FEE =Kl 12,250]  100.0%
1| FER HE&TH 3,903]  100.0%
1| FEER ABtH 4.604] 100.0%
1TFEE th 33,137/  100.0%
| TFEE hlEh 19,367]  100.0%
| FEE Rl 17,105]  100.0%
1| FER J\FRT 15,484  100.0%
1| FEE }kZFh 8,849 100.0%
1| FER R )l th 1,863]  100.0%
TFEER b ] 8,024 100.0%
| TFEE EZiEZh 5,279  100.0%
1| FEER HART 12,398 100.0%
TFEE mEnET 7,707]  100.0%
1| FER HWAoET 5,153]  100.0%
1| FER I\ 4230/ 100.0%
1|[FEER ENdE 10,015]  100.0%
| FEE =E:aiil 5,732]  100.0%
| TFEE BEEHRT 2,105/  100.0%
| FEE MmETH 2,357  100.0%
1| FEE FEh 4.403]  100.0%
1| FER = 2,902 100.0%
1| FEE XEBET 3,349]  100.0%
1| FEER B AR FFET 1,322  100.0%
| TFEE KHT 1,057]  100.0%
| TFEE Ea=1:1 831]  100.0%
1| FEE B EHRT 848  100.0%
1 TFEE = ILAT 434]  100.0%
1| FEE 1 Z Sl 1,542]  100.0%
1| FER iR ET 445|  100.0%
1|FEER = 642 100.0%
1FEE FARHET 330/ 100.0%
[ES=E FRERX 4,720 100.0%
[E3=E FRX 9,737] 100.0%
[E3=E EX 12,456]  100.0%
[E3=E- HEX 12,752]  100.0%
1| R 2R XEX 12,499 100.0%
e BEX 9,394] 100.0%
HEE SHEX 14,261]  100.0%
[E3=E THREX 33,739]  100.0%
[E3=E =S 22.142]  100.0%
1[EEER HEX 13,036] 100.0%
1[BEER KXAKX 40,995|  100.0%
1| BERE#ER HEHAX 49,906/ 100.0%
e BEARX 9,034 100.0%
[EF=E F X 13,764]  100.0%
[E3=E EiIX 28,568]  100.0%
[E3=E E2EX 11,730]  100.0%
1| X 17,851]  100.0%
ES=E =X 12,409 100.0%
e REEX 32,817] 100.0%
[EF=E BERX 47,118  100.0%
[E3=E BiIrX 44562]  100.0%
[E3=E B 29.409]  100.0%
1| R AR IRIIX 48.928]  100.0%
[E3=E INEFTH 39,414 100.0%
HESE szl 12,409 100.0%
[E3E HEEF 8,268] 100.0%
[E3E =Emh 12,927]  100.0%
1| R AR it 8,844 100.0%
1| R AR et 19,503]  100.0%
[E3=E e 8,180 100.0%
HEHE SRfnth 15,754| 100.0%
HE3E: ETHET 31512]  100.0%
[E3E INEFHTH 8,008/ 100.0%
HEFH HEh 13,628  100.0%
1| R AR AL 10,761]  100.0%
HEFH B 8,191]  100.0%
[E3=E Erh 4612]  100.0%
HESE ] 3,344]  100.0%
HE3E: Ja;Ih 5,066 100.0%
HEFH EPNGi 6,434]  100.0%
1| R AR HABXT 8,178] 100.0%
1| R AR HEA T 6,079] 100.0%
HESE: ZEH 10,079]  100.0%
HESR HEHEHH 6,210/ 100.0%
[E3=E FEEET 14,095]  100.0%
[E3E T e MY 2,252]  100.0%
HEFEH H®HHET 1,543]  100.0%
1| R AR BEA 74]  100.0%
1| R AR B8 % EEET 214]  100.0%
HEEIMEIRINTGT 108,994]  100.0%
AE)IE |HBEEH 51,111 100.0%
HENNE |#E8h 27,343]  100.0%
EEE |FiEH 18,447]  100.0%
HEEEINTEIE i 11,221]  100.0%
)R |/MNEEH 12,961]  100.0%
1HEIIE [EFH 3,768] 100.0%
MEEEINTEINE 560 11,745  100.0%
1ARIIE |[EXH 16,747 100.0%
HEEINEIPNLH 17,348]  100.0%
AR |[FEEH 7,073]  100.0%
AEIIE |BXEH 10,535]  100.0%
1[AHE)IE |ERH 9,223]  100.0%
RIS 3,027] 100.0%
HEEEINEIE3 G 7,047]  100.0%
NEEEINTEEMETN:) 2,651  100.0%
AEIIE | =8 1,788]  100.0%
HEEIMEINEE: T 603]  100.0%
1|HZE)E | KFHFET 1,316]  100.0%
AE)IE  |#EHE 609] 100.0%
HEEEINT-INTEA:) 581] 100.0%
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REEAEL FRICEITDELRICTIRIEDE[HFRR (3)

D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &R HF 12 44 HEEA IREAFHR %
1[f=)IIE |G 1,653]  100.0%
MEEIMEINE T T 426]  100.0%
HEEIMEIEL ) 318]  100.0%
ML EINCEE ) 1,246]  100.0%
1FaE Fiam 58,630 100.0%
1FaE il 19,785]  100.0%
1|FaE izl izl 5,312]  100.0%
1FHBE INFBRTH 2.564] 100.0%
1FaE + BB 3,414 100.0%
e Rt 2,895 100.0%
1 FaE Feth 5,643 100.0%
1FaE by 1INt 2,643 100.0%
1FaE et 2,037]  100.0%
1FHBE Lk 13,289]  100.0%
1FaE BiAm 2,292]  100.0%
1#FaE BEAAT 4285 100.0%
1 FaE AT 1,907| 100.0%
1FaE SR AT 604]  100.0%
1FaE iR ET 432]  100.0%
1FaE 2 ET 490|  100.0%
1ZLE =t 29525  100.0%
1EWE KEH 2,706/ 100.0%
1ZEWLE BT 2,444 100.0%
1EWE 25mH 3,104] 100.0%
EWE it 3,790] 100.0%
EWLE INKERTH 1,858  100.0%
1EWE mlm 3,243  100.0%
1EWLWE gtk 7,154  100.0%
1EWLWE FHER 328] 100.0%
1EWE LT 1,220|  100.0%
1EWE 37 LU HT 1,820/ 100.0%
1EWE AEH 1,533]  100.0%
1|ZEWE gl HHT 589]  100.0%
1HAIE tEHh 3,294]  100.0%
1B)E HE™ 1,203]  100.0%
AR PETH 1,266/ 100.0%
AR MIELTH 2,794] 100.0%
1BJIE =113 9,512 100.0%
AR BExXTh 4387 100.0%
1{RJIE ot 4900/ 100.0%
AR EIEET 3,199  100.0%
S SEHR 1,117)  100.0%
AR = EZEEKET 758]  100.0%
1|BIJIE 7WKHT 357| 100.0%
1HAINE BEEET 749]  100.0%
1{E8HE EHE 16,160]  100.0%
1EHE HET 5,155]  100.0%
1{BHE INVET 2,204 100.0%
1{8HE 5 Ih 6,105 100.0%
1{8HE Hhomh 1,840 100.0%
1{EHE FEEITH 6,389/ 100.0%
1{8HE Ea BRI ET 738 100.0%
1{8HE L FiT T 1,576 100.0%
1{BHE £RAT 585]  100.0%
1{BHE EEULET 694| 100.0%
E S EtEHT 3,376/ 100.0%
AT #EB™H 2,027] 100.0%
1[IEYE N 2,382 100.0%
S XKA™| 1,156/ 100.0%
S E 1,968] 100.0%
[NTETE! A7 ILIAT 5,621 100.0%
RS S BEm 5,874 100.0%
Y BWh 4.822| 100.0%
1[IEE LEFEH 1,228  100.0%
AT BT 2,049  100.0%
A I = 4ERHT 999]  100.0%
ESSS 3TN 52|  100.0%
[ANTET ! 5 JEHT 463| 100.0%
AT ! FIERHT 375 100.0%
Y = LJIIET 999 100.0%
1[IEE AR F0ET 1,931]  100.0%
AT EEHR 89|  100.0%
MESS PEAEHT 314 100.0%
EYSS BEH 836/ 100.0%
E S L F it 4 349 100.0%
AT 8R4t 137|  100.0%
AN = 150 O AT 1,605/  100.0%
AT INEFT 46|  100.0%
e FHR L 24| 100.0%
AR S A O R EREES 558] 100.0%
1 EFE rHE™H 11,694]  100.0%
1 EFE SmEATH 3,560 100.0%
1 EFE INGETH 3,106] 100.0%
1| REFE FRH 5,313]  100.0%
| EHFE bt 2,565/ 100.0%
1REE KETTH 1,639] 100.0%
1 EHE A 1,299]  100.0%
1 EHE ERT 4880 100.0%
1 EFE Fehth 4371] 100.0%
1| REHFE EXi ] 2,329 100.0%
1| EHFE ZEHH 7,251]  100.0%
1EEE B R HET 1,395 100.0%
1REE 4 H 1,226] 100.0%
1 EFE S ELET 428 100.0%
1| RHFE N 323 100.0%
1 EFE RFET 208 100.0%
1EEFE T EREAHET 1,304]  100.0%
1EEFE [=4T 626] 100.0%
1REE REFHET 1,280/ 100.0%
1| EHFE HimET 2,034 100.0%
1| RFE B EHT 653]  100.0%
1 EFE EEmM 1,522  100.0%
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REEAEL FRICEITDELRICTIRIEDE[HFRR (3)

D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA IREAFHR %

Eg%: 14 398 100.0%

PR =l 800 100.0%
EHE ¥ ET 973| 100.0%
EHE AT =g ET 274  100.0%
EFE SEARF 44|  100.0%
EHE SR 517]  100.0%
EHE ik /N 256/  100.0%
EFE BEAE 291]  100.0%
EHE AREH 177]  100.0%
EHE AEHT 636/ 100.0%
EHFE FREEHE 150|  100.0%
EHE A RAT 103]  100.0%
E%% : gﬁz'?' 444| 100.0%

FIE FI=ER] 202 100.0%
REE NIIES] 701]  100.0%
EHE BEH 623 100.0%
EHE INEF 173|  100.0%
EHE I3k BT 1,032]  100.0%
Egﬂ:r 54(/% A H*TT 641]  100.0%

FIE R 330 100.0%
EFE FIRERF 217  100.0%
E;&Z E;%HT 474]  100.0%

7R BT 706/ 100.0%
EHE FERTEMATRERES 214  100.0%
EHE RERERTT/NEERMAE 112]  100.0%
EHE AT 8RB R A 459 100.0%
EHE ERTREAT R FRES 76/ 100.0%

I BB IR s B 30,073]  100.0%
Iz B I8 Kigth 12,464]  100.0%
I B 12 St 6,754] 100.0%
Iz B 12 ZaRm 7,841]  100.0%
Iz B 12 BEmh 7,829  100.0%
Ik B 1R hiE)h 5,995  100.0%
I BB 12 XEM 1.411]  100.0%
I B I8 I E™H 2,541  100.0%
Iz B I8 FHE™H 5,505  100.0%
I B I8 BB 3,665/ 100.0%
Iz B 12 ES- 3 5,223  100.0%
Iz B I8 g 4.203]  100.0%
Iz B2 15 BER™ 11,916]  100.0%

I B I8 a7 8,157] 100.0%

<l

I B I8 T 1,795 100.0%

iz & B i 5171 100.0%

T T T

I B IR REET 1,565 100.0%

Iz B 12 AEH 2,798]  100.0%
I B 1R T2t 2,153]  100.0%
Iz B I8 EiE™ 2,270]  100.0%
I BB 12 I /g BT 2,103]  100.0%
Iz B I8 X N 1,658]  100.0%
I B 12 BEH 2,017 100.0%
I B 12 FEFHHT 2,184]  100.0%
Ik B 1R BE 4 [ BT 403]  100.0%
I BB 1R 4 = BT 1,404]  100.0%
I B I8 i 2 HT 847]  100.0%
Iz B I8 2 J\HT 1,123]  100.0%
Iz B I8 125 )ImT 1,268]  100.0%
I B I8 KEFHT 1,922 100.0%
I B 12 LA HET 1,569]  100.0%
Ik BB IR I AL BT 629  100.0%
Iz & 1§ = SN 372]  100.0%
I BB 12 +5=Ar 179]  100.0%
I B I8 J\BZEHRT 672] 100.0%
Iz B I8 =ML 406] 100.0%
I B 12 =ML 108]  100.0%
Iz B 12 EENERBEEGRAEFES 205|  100.0%
Ik B 1R KiEHR/\BR/\BTHEE 294 100.0%
I B 15 5 N T INET ch AR S 299| 100.0%
el Eed il 62,875/ 100.0%

Eednhy g™ 47548 100.0%
Eednah BE™ 12,942  100.0%
B3 IR Hgh 1,368]  100.0%
dbol =Bt 8,369 100.0%
dnol Et=mh 10,239  100.0%
el FETH 3,761 100.0%
Eednihy AT 7,553|  100.0%
Eednahy B HH 13,592] 100.0%
bk BT 10,395]  100.0%
edboh #ilth 9,765/ 100.0%
edboh EES ™ 7,134]  100.0%

NIy PEITG) JEITY) EIIY 'Y FENY JENY PG PENY FIY Y I JENY Ty Q) Q) Y JENY Iy g Y JIIQ Iy [y [y Iy Uy Iy Iy Mg rQ) Uy Iy Iy Uiy Iy Iy Iy [y Iy Uy Iy Iy JIrg Mg Uy Uy NIy NIy Nirg) Iy JENY NIy NIy Q) Iy Iy NIy NIy Sy Y NIy Iy NIrQ g JUIY NIy Q) NIrQ) I Uiy Y NIy Uiy Iy Iy Iy Iy g Iy Uy [y [y [y Ty Uiy g Nirg) Q) Iy JUy NNy Sy Iy Uy Iy NIy [y Iy Iy [y -y

Edralos) KRHH 7,902]  100.0%
Eednihy THAT 1,177)  100.0%
Eednahy EEF T 4132 100.0%
Eednahy T 4479 100.0%
B3 IR FEh 1,593 100.0%
EARIE] It 3,903]  100.0%
bl FEDQET 3,501  100.0%
el AL 2,966/ 100.0%
Eednhy RFEZME 542] 100.0%
Eednahy SAEET 458|  100.0%
Edbaly F{FEH 458|  100.0%
bl FA U BT 292]  100.0%
edboh FH{FZH] 319]  100.0%
Edralos) BRI Fg T 2,693]  100.0%
el F KT 2,535/ 100.0%
Eedeahy K RHET 3,985/ 100.0%
Eedbahy /ML BT 1,323]  100.0%
bk = HHAT 2,329]  100.0%
edboly FxHT 1,299]  100.0%
Edrilos) W2 B EREE 243 100.0%
ZHE AEEH 174,564] 100.0%
ZHE ] & T 33,046] 100.0%
ZHE —=mh 31,248] 100.0%
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D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA BEAEHR %
HEEN! U mkit] 10,100]  100.0%
1EHE EBHT 25,473  100.0%
1| ZRE B )Ith 15,792]  100.0%
1ZHE EET 4.421]  100.0%
1ZRE ZEmEh 6,159] 100.0%
1 ZHE MAaH 12,841]  100.0%
1ZHE L HH 35,451 100.0%
1|Z5E T 17,013  100.0%
1ZRE mEm 15,025  100.0%
1|ZRE Kiumh 5,753]  100.0%
1|ZRE AN 7,972]  100.0%
1|ZERE IMET 12,569 100.0%
1 ZHE o R™ 10,720]  100.0%
1Z5E Eh 3,184 100.0%
1ZRE EX:Aiil 10,418 100.0%
1|ZRE KFFh 8,523| 100.0%
1|ZRE mMZmh 7,011]  100.0%
1|ZRE FSIRVA ) 5,873  100.0%
1ZHE EEBTH 7,092]  100.0%
1Z5E =T 4.604| 100.0%
1Z5E BT 3,459 100.0%
1ZRE LT 5,208] 100.0%
1|ZRE H#E 8,971 100.0%
1|ZRE HIEH 4891 100.0%
1ZRE ZPHh 4497 100.0%
1Z5E tBEEH 7,258  100.0%
1|Z5HE YRE 3,418  100.0%
1Z5E AHELh 5,648 100.0%
SIS EIRRET 4242] 100.0%
1ZHE AN 1,524] 100.0%
1|ZHE PREHT 2,950/ 100.0%
1Z2HE KAH 3,118/ 100.0%
1| Z5HE BZTHT 2,791 100.0%
1Z5E REF 414  100.0%
1Z5E Ra] A EE BT 3,097 100.0%
1|Z5E BLUHHET 4221 100.0%
1ZEHE AN ZHT 1,020[  100.0%
1ZHE EHT 1472  100.0%
1ZEHE 2T 3,726/ 100.0%
HEEE! SEHAT 4292  100.0%
11=588 ETh 19,869]  100.0%
11=ZF18 AT H 23,238 100.0%
11=ZF18 thEEh 15,728  100.0%
11=F8 WgERH 3,466 100.0%
11=FE =L 2,167 100.0%
11=F8 I EFHT 3,510/  100.0%
11=F8 g HHAT 1,333]  100.0%
11=F8 J11 % BT 1,304| 100.0%
11=58 Z ST 884/ 100.0%
11=58 BAFOET 1,801] 100.0%
11=FE FE kBT 1,357| 100.0%
11=F8 KicHT 398] 100.0%
1[=F8 B {RSAET 424]  100.0%
1 :El,-.- SREHE AR ERES 395  100.0%
1#HER KiZEm 27236 100.0%
1 ,ﬁ”“ B ERH 9,276] 100.0%
1#E ,LE'R REH 9,606/ 100.0%
1 ‘;‘f‘z 512 T\ & 7,000] 100.0%
1HEE BHEh 11,997]  100.0%
1 ﬂ”“ B LU 8,571 100.0%
1#ER 5 BEm 7,139  100.0%
1HER ] FFoMH 4325 100.0%
1#E ,LE'R T 4413| 100.0%
1#EER =5t 3,173]  100.0%
1 x&”“ Z EBliganN; 1] 9,508 100.0%
1#E E EESEN 1,598 100.0%
1 ,ﬁ”“ B IR 2,209 100.0%
1 ,1&”“ ] = JERET 701]  100.0%
B35 E ZEHR 609 100.0%
1 R%BF IR AR AT 32,591 100.0%
1| &R AT AR 93,215]  100.0%
1| AR AT f2EITH 6,043]  100.0%
1| AR AT HEeth 6,133]  100.0%
1| AR AT e Th 2,197]  100.0%
1| R &R AT FA™H 13,835]  100.0%
1|ZEEBRF S REh 6,907 100.0%
1| &R AT EIEEG 4.448]  100.0%
1| &R AT J\IEH 4,990|  100.0%
1| AR AT HADH 6,441]  100.0%
1| AR AT =A™ 3,669 100.0%
1| R &R AT [Eakedit] 2,071 100.0%
1| R &R AT KiE)lth 7,849  100.0%
1|[ZREBRF KL U5 BT 1,286 100.0%
1| &R AT A {0 L BT 1,103]  100.0%
1| &R AT ) 3,162]  100.0%
1| AR AT {F 45 BT 101]  100.0%
1| AR AT 5 S EFET 1,288]  100.0%
1| R &R AT 5B E R P RES 241]  100.0%
1| KB AT NG 112,177  100.0%
1| KBR AT pNY il 177,490 100.0%
1| KBR AT il 63,980 100.0%
1| KBR AT Ehh 31,917 100.0%
1| KRR fF AT 7,627]  100.0%
1| KB AT WwHE™H 30,281  100.0%
1| KB AT RXKZEMH 5,474 100.0%
1| KB FF =S¥ 26,018] 100.0%
1| KBR AT O 8,761 100.0%
1| KBR AT 3 Qalitl 30,388  100.0%
1| KBR AT P& Nitl 23,756] 100.0%
1| KB AT RIEHH 6,928 100.0%
1| KB AT AIRNERT 6,417 100.0%
1| KB AT NG 7,794]  100.0%

B A AR GL

ERIZHITHERICTIR
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D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA IREAFHR %
1| KBR AT PN Aiil 8,277 100.0%
1| KB AT e 15,597 100.0%
1| KB FF Em@mm 12,666 100.0%
1| KB FF HmIEH 4,750]  100.0%
1| KB FF EEmh 6,211] 100.0%
1| KBR AT =24ahm 4252 100.0%
1| KBR AT E PN 32,645 100.0%
1| KB T Po{EBE T 4.096] 100.0%
1| KB AT X8 5,991  100.0%
1| KB FF NI 4797 100.0%
1| KB FF R m 3,772 100.0%
1| KBR AT EHERT 851]  100.0%
1| KBR AT BESMET 449]  100.0%
1| KBR AT HEERHT 3,604 100.0%
1| KB AT H R HET 724]  100.0%
1| KB FF AFHT 964| 100.0%
1| KB FF SA] E AT 1,096/ 100.0%
1| KBR AT FE2RERAT 278]  100.0%
1 EEE EEE 88,288  100.0%
1 EEE HETh 114,623]  100.0%
1 EEER BT 44,990 100.0%
1| EER B 32,455 100.0%
1| EER mEm 39,446] 100.0%
EER EERW 6,175 100.0%
EEE HEH 2,040] 100.0%
1 EEE Atk 6,065 100.0%
1 EER mETE 20,823| 100.0%
1 EEE i) Al 2,894] 100.0%
1| EER =iFH 17,426]  100.0%
1| EER =Kt 5,331  100.0%
EER =i 7,088]  100.0%
1 EEE JIlFETH 11,536]  100.0%
1EER INEFTH 4,030]  100.0%
1EER mndEH 2,924 100.0%
1 EEER FLR™ 4718 100.0%
EER EHHLH 3,029 100.0%
EER B 2,135  100.0%
EEE SRR 2,967 100.0%
1 EEE REH 2,662] 100.0%
1 EER NEN ] 2,750  100.0%
1 EER -2Mth 5871 100.0%
1| EER ¥4 )BT 2,662 100.0%
1| EER % ol HT 1,356 100.0%
1| EEER Fig < BT 2,487 100.0%
1 EEE B EEET 3,057] 100.0%
1EER || BT 772]  100.0%
EEE 13 I3 BT 1,600]  100.0%
1| EER i 5a] HT 755  100.0%
1| EER AFHT 3,181 100.0%
EER L ERET 904| 100.0%
1 EEE & BT 938] 100.0%
| EEE EXH] 1,099]  100.0%
1 EEE EhbLiMNATis 428]  100.0%
1 EEE BESELEERES 96/ 100.0%
1|ZERE =ZRBE&R 22.826] 100.0%
1| ZEEER =Bt 23,644 100.0%
1| ZERE BETH 8,869] 100.0%
1| ZERE 4Egth 9,933] 100.0%
1|ZERE i 7411]  100.0%
1|ERE BiEh 3,505 100.0%
1|ERE EX S 218]  100.0%
1| ZEEER EREET 1,141]  100.0%
1| ZERE =) 1,670| 100.0%
1| ZERE B g |y 2,373]  100.0%
1| ZERE T IEET 375]  100.0%
1| ZEEER JI| PR BT 403|  100.0%
1| =ZRE =Ef 269 100.0%
1| ZEER HEXR 2,285 100.0%
1| ZEEER St 61 100.0%
1| ZEEE L Ft 31  100.0%
1|ZERE 2EN 24| 100.0%
1|ZERE EIIIES 69|  100.0%
1|1=ERE JIIF5RT - = EET T PR S 333  100.0%
1FOFRUE  [FOFRUE 21,776] 100.0%
FIFLE  [#B&Th 4102 100.0%
FIFUE  [HHT 1,790/ 100.0%
AL [fEshTh 1,430] 100.0%
1FIFUE  |H3h 5,035/ 100.0%
HFIFRLE  [#FE D)l 4251 100.0%
e/ S ={ss]ii] 4337 100.0%
1 FIFRILE 2SS FFHET 402|  100.0%
1FFLE  |[ADSHEE 1,032]  100.0%
1A IRUE  |[SHET 139]  100.0%
HAFRUE  [FEET 817 100.0%
1 FOFRLE  |[E)IET 521]  100.0%
HFIFRLE | B HEIIE 2,000/ 100.0%
AR | SRR 429]  100.0%
FIFLUE |BSH 728]  100.0%
FIFUE |HEHR 314 100.0%
1AFRUE  [AEAET 931 100.0%
1 FOFRUE |2UERT 1,288 100.0%
HFIFLUE | EEHEE 1,320]  100.0%
HFIFRLE [T SAHT 201 100.0%
AR | S EE)IET 180|  100.0%
117 0ZUE  |[eymBEsImh2REs 177|  100.0%
1|BERE BEh 14,153]  100.0%
1 EWE XFH 11,419]  100.0%
1| EHRE =N=1il 3,511  100.0%
e b ¥t 2,452]  100.0%
1| EWE B0 713]  100.0%
1| EWE & BT 122]  100.0%
1EWE £ alT 416] 100.0%

REEAEL FRICEITDELRICTIRIEDE[HFRR (3)
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REEAEL FRICEITDELRICTIRIEDE[HFRR (3)

D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA IREAFHR %
ENE J\BEHT 1,193]  100.0%
ENWE — BHHET 458|  100.0%
ENWE 3T 1,371]  100.0%
EHWE ZmAT 1,312]  100.0%
EHE b RET 1,182]  100.0%
EMWE EEN 210]  100.0%
ENWE AKLLET 1,069]  100.0%
ENE A EBHT 769]  100.0%
ENWE BEHET 816/ 100.0%
ENWE H g T 192  100.0%
BHE H ¥rHT 118]  100.0%
EIRE SLFHET 122]  100.0%
EmWE (FHEEENPERES 429 100.0%
EEE BRE 15,484 100.0%
EEE HEH 14,523  100.0%
EiRE i 2,617] 100.0%
fif] L IR fif] L IR 36,636/ 100.0%
] LU IR ] LU 54,339 100.0%
fif] Ly 2 =524l 40,377/ 100.0%

[ LR LT 7,767  100.0%

[ LR FRET 2934 100.0%

i L IR HET 2630/ 100.0%

] L8 T 6,019] 100.0%

fif] LU IR R 1,772] 100.0%

AT T ET T ST T

[ LU 8 ERIT 1,951] 100.0%

] LU IR HE N 2,655/ 100.0%
fif] L2 FREETH 3,568  100.0%
i L IR BET 3,155] 100.0%
] L8 =%t 1,707|  100.0%
] LU I8 0O 2,265 100.0%
if] LU IR AT 815/ 100.0%
] LU IR B EH 1,224  100.0%
] LU IR BERT 965/ 100.0%
] L IR L HMT 842 100.0%
i LU IR FEF 58| 100.0%
fif] L IR A% L HT 948| 100.0%
fif] L IR EEHT 435 100.0%
fif] L2 A K HET 248|  100.0%
] LU IR eSS 932] 100.0%
] LR R T AT RS 96/ 100.0%
LER LER 40,272]  100.0%
LER =Rt 6,308]  100.0%
LER ERH 2,195]  100.0%
LEER HILET 16,286 100.0%
LEER HHMmM 9,204 100.0%
LER T HET 1,844 100.0%
LER SIAET 1,050[ 100.0%
LEER JiF 5 T 4258]  100.0%
LER i A AT 2,454]  100.0%
LER | ArN=1:) 1,161] 100.0%
LEER A = [HET 467]  100.0%

il 8,959/ 100.0%
T =]=! EET 9,273]  100.0%
wag M| 2,012] 100.0%
=)=} X4 1,320]  100.0%

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
A g it
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

WOog FAHT 620 100.0%
==} H b BT 1,019] 100.0%
== Bl K BT 192]  100.0%
wmEE wEE 17,311]  100.0%
mEE =n 18,019  100.0%
mER EF9th 3,636] 100.0%
mER INDETH 2,281  100.0%
mER fAEE 5,286/ 100.0%
mEE =adllhi 2,477  100.0%
mEE Bl B2 T 2,366/ 100.0%
mEE =BT 1,750  100.0%
mER =4 1,300]  100.0%
mER RS ET 279]  100.0%
mER _F BHT 54| 100.0%
mER AR 113]  100.0%
wmEE A FHHET 1,915]  100.0%
mEE #LET 183  100.0%
mER AR ES ET 373]  100.0%
mER £ Ik AT 150]  100.0%
mER ES ) 291]  100.0%
mER B HT 443|  100.0%
mEE AT 1,178]  100.0%
wmEE Jt E BT 2,058]  100.0%
wmEE e 3,139  100.0%
mER R EPHET 841]  100.0%
mER  ARET 786]  100.0%
mER DAHEH] 403]  100.0%
mER BAHLLHET 981]  100.0%
EIE ENE 19,196 100.0%
FNE =T 34,130]  100.0%
EIIE L& 9,071 100.0%
EIE R 3,303] 100.0%
EIE =HET 2,979 100.0%
IR =2 4370/ 100.0%
EIE F %M 1467 100.0%
FIIE %) BT 1,653]  100.0%
FIIE FADSH 1,426]  100.0%
EJIIE SEHHRETSHIRES 362] 100.0%
EiEE ZEE 26,630] 100.0%
EiEE Wil 38,171 100.0%
EiEE e pi=liil 10,555| 100.0%
ZigE FHET 4468 100.0%
ZigE J\IEET 1,994]  100.0%
EiRE FEET 9,156/ 100.0%
ZEE FaEm 8,188 100.0%
EEE KM 3,085 100.0%
EiEE F¥H 2,804] 100.0%
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D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA IREAFHR %
1| ZEE HEF RT 6,299 100.0%
1| ZEE il 2,344 100.0%
1| ZEE E ¥ 2,653 100.0%
1| ZEE L BB 294|  100.0%
1| ZRE AR =R 374] 100.0%
1| ZRE REC BT BT 1,645]  100.0%
1 ZEE A FHT 1,077 100.0%
1| ZEE VNS 184|  100.0%
1| ZEE Ed:) 554]  100.0%
1| ZiEE ErRfT 1,069 100.0%
1| ZRE ENGE S 19]  100.0%
=l SHE 12,431]  100.0%
1S58 =i 21,713]  100.0%
1EHE Ean 547]  100.0%
2B TEm 908  100.0%
= mET 3,311  100.0%
= Ti&Em 1,618] 100.0%
=T JBlGtHh 1,177)  100.0%
1S58 BEH 1,285]  100.0%
=SB TiEBKT 593|  100.0%
=SB ikt 2,411  100.0%
=L &EEH 1,575 100.0%
1S58 BEHT 76| 100.0%
= Z= 3 FI BT 149  100.0%
1SR HH EFET 146  100.0%
1S58 %= HHET 118  100.0%
2B Je )14+ 70|  100.0%
1S58 B 60|  100.0%
1558 =raft 241]  100.0%
1S58 Z LI AT 183]  100.0%
1SR KEHT 112|  100.0%
1S5E T IEHT 222  100.0%
1S58 IS 30/  100.0%
1125E LN BT 1,218]  100.0%
1S58 =i )11 BT 212]  100.0%
1S58 b+ {&ZHT 328] 100.0%
1S58 % )| BT 812 100.0%
1S5E % %0 BT 265| 100.0%
1S58 EIRHET 203]  100.0%
1|55E HaH 197]  100.0%
125E EERET 378] 100.0%
1558 P 5 +HT 940| 100.0%
1S58 KHH 229]  100.0%
1SR =g 62| 100.0%
1SR 22 ET 559]  100.0%
1|=58 EE AR e 138  100.0%
1|48 2 fahf] 2 70,506  100.0%
1|48 8 AT 69,914 100.0%
1|48 8 fafdm 126,156 100.0%
1|12 8 KEHST 7,754]  100.0%
14800 8 A BB XKt 26,388  100.0%
14800 2 LG 4811]  100.0%
14800 2 J\&hH 47348| 100.0%
1|48k 2 Skt 4264]  100.0%
1|48 8 NIk 2,067] 100.0%
14800 8 1T¥T 5,735  100.0%
145800 8 ;0] 1,746 100.0%
14800 2 P32 il 9,407 100.0%
1|$8RE 8 o il 8,275  100.0%
1|48 2 a&ET 5,241]  100.0%
1|48 8 =Eh 6,459] 100.0%
1|48 8 Sl 2,291 100.0%
1|12k 8 Eam 2,043]  100.0%
14800 2 HPE 2,561 100.0%
14800 2 ST 4501]  100.0%
14800 2 A HT 3,034]  100.0%
1|48k 2 SR AITET 2,539]  100.0%
1|42k 2 RARHT 1,402  100.0%
1|48 8 KIEET 436 100.0%
1[4g8 M0 8 ] FH BT 3,171 100.0%
14800 2 =i 393 100.0%
14800 2 L EHT 681] 100.0%
1482 Ela) 1,191]  100.0%
1480 8 HEAS — T PR S 311  100.0%
1|$g ] 12 AERAN =HE S EERAE 234]  100.0%
1[{&0H 8 HESEEREE 638 100.0%
1MEER EER 20,035/ 100.0%
1EER EEH 17,888]  100.0%
1MEER Eifith 6,818] 100.0%
1HEER AT 1,388]  100.0%
1MEEER FHET 4657 100.0%
1HEEER HifEh 3,950/ 100.0%
1HEER BEET 2,342]  100.0%
1HEER N TR 3,782]  100.0%
1HEER EHH 1,990/  100.0%
1HEER HisEh 2,447 100.0%
1HEER | L ET 1,276]  100.0%
1HEER LI ET 899| 100.0%
1HEEER A ROZHT 1,902] 100.0%
1HEER FHHE 1,566/ 100.0%
HEEE KHTHT 407|  100.0%
1HEER ARHET 555  100.0%
1| EIFE BRETH 3,420  100.0%
1| EIFE X#th 9,259]  100.0%
1| EIFE EFTH 2,155/ 100.0%
1| RIFE xtE™ 2,062] 100.0%
1| RIGE =ik 2,136/  100.0%
1| RIFE ichi il 1,789]  100.0%
1| EIFE Elh 3,150/  100.0%
1| RIFE EE5H 3,486] 100.0%
1| RIFE B3 EHT 2,561 100.0%
1| RIFE EXtaT 531 100.0%
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D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA BEAEHR %
1sEE ARERTh 27,922]  100.0%
1458 BEZEH 9,503] 100.0%
1[HEE ERT 11,569 100.0%
1R SREM 7,588|  100.0%
1@ e Ei=n 5,115/  100.0%
1pfEE BT 4732 100.0%
18R Bt 121 100.0%
14EE A EBRET 1,204|  100.0%
1[FEE B 990 100.0%
1[FEE £ AT 1,188  100.0%
1HhiEE FIH 352]  100.0%
1pfEE 5= FHRET 1,389]  100.0%
1sERE L B HET 3,038]  100.0%
1 48R e 1,928  100.0%
1[HEE 78 R T 3,431 100.0%
1[FEE 5 33 |5 BT 2.172]  100.0%
1 fEE A R [ T 4741 100.0%
1R A XK EHET 665| 100.0%
1sEE J\ & FAHT 3,586/ 100.0%
1142| AR EE 146,409]  99.6%
1143 (5% 2 AT 63,339 99.3%
1144(dtE8 JtiEE 82,664  99.2%
1145| RIFE K&t 27,778]  99.1%
1146|135 F 12 =3 45,104 98.8%
1147|8112 £RT 34,530 98.8%
1147| REFE et adiil 27,679 98.8%
1149[Z 5B Al 31,745 98.7%
1150(F 0L [F0Friumh 24,910 98.6%
1151 |FkEHIE AT 20,939 98.5%
1152| FEE WES 34,446 98.5%
1153[fe B8 f=E™ 18,824]  98.5%
1154|FB)IE RIIE 21,828 98.2%
1155[#Z)I | 2 nas,Rﬂi 34,059  98.2%
1156 R NNl 17,827 98.0%
1157 %*EER 4}51?? 15,939 98.0%
1158|FERER |&EE™ 11,708 98.0%
1159|812 =tH 20,004 97.7%
1160(BEE 8 AXH™H 19,231 97.6%
1161|[LEER Bt 9,084]  97.6%
1162 LFIE BRFth 12,411 97.4%
1163|EERER |EBEWH 9,984  97.2%
1164|HJIIE INATH 9,134  97.0%
1165|EFEE =HEH 8,975 96.6%
11665988 iR 44629  96.4%
1167|EEE FHmh 17,102 96.3%
1168| FEER o aditl 14,100 95.8%
11696 LR E&HH 3,946 95.7%
1170|#080ILE /BT 3,039  95.0%
ARANIEY S st 3,327 94.7%
1M7|=F8 4t 11,339]  94.7%
1173|258 HhEh 7,282 94.1%
1174|2508 THE 119,653 93.9%
1175 IUFE I8 XE 4878]  93.8%
1176|@EJIE  |#EH 264,727]  93.7%
1177|ERER |i5EH 3,396 93.3%
1178[ILZ & EX i 3,960/  92.9%
1178488 2d5Fh 12,453 92.9%
1180|2518 ikl 5479  92.3%
1180|FZRE EEIEEHE 4,029 92.3%
1182|Z 518 =il 5,738 91.7%
1182 =R E XIS HT 4341 91.7%
1184[faE 8 =Rkl 4573 91.3%
1184 | ILIE S2h 1,670 91.3%
1186|Z418 *¥Hh 9,450 90.0%
1186 lLOE WFE/NEFE T 4,684 90.0%
1188|Z 518 EAFH 6,428]  88.9%
1188448 R RiEm 6,562 88.9%
1190|F|JIE A8 BT 2,184 87.5%
1MO|ERER [PiEFH 551 87.5%
1192(dtE8 1= B HT 1,288 86.7%
1193/dkiEE B 172 HT 388]  85.7%
1193[FHE /\/rFFrﬁ' 672 85.7%
1193|E IR fiETh 2,667  85.7%
113|EREE ,%7}<EHT 570  85.7%
1197/ RHE EHE 46,450 85.1%
1198(lLAE TEA 18,138 84.8%
1199 EIFE HIGE 22874  84.6%
1200| &3k IR IBE 58,548  83.7%
1201|dk:@E FIiE ET 428]  83.3%
1201|F)IIE BEMhhbh 1585  83.3%
1203|@EIE  |[#WEIE 124.280]  82.8%
1204|5518 mAE+mh 2,199 81.8%
1205 ILAOE T =]=! 23,714 81.7%
1206 ZEBIE AF0ER LT 5926/  81.3%
1207|5F 8 =FE 25,111 80.2%
1208|dt:EE T IRHET 612]  80.0%
1208| Lz I8 R MY 484 80.0%
1208|218 KWRHET 1,353 80.0%
1208 #WSJII REEHT 2,267 80.0%
1208/ B I8 A R ET 1,945 80.0%
1213 IR fuh 1,419 77.8%
1214| FEE FERE 94,638 77.4%
1215/ ILAE WFHh 2,106 76.9%
121615 E 8 BEE 116,059 76.5%
1217\ RIS RIGE 26,136 76.3%
1218|=F &2 —E& 38,108 76.0%
1219 ERE EHE 11,714 75.8%
1220(dt3E.8 LN 467 75.0%
12201f8 58 =& 1,192 75.0%
1220] i B IR Ik B2 15 40,923  75.0%
1220( 258 RKORET 2,188 75.0%
1220| R &R AF IR PR ET 712 75.0%

B A AR GL

ERIZHITHERICTIR

12/18

BROERINT (3)



D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &R HF 12 44 HEEA IREAFHR %
1220| EEIR #.m R AT 929 75.0%
1220|BERIE FRHET 962 75.0%
1227(1LF8 e 16,264|  74.4%
1228\ B HEER 36,271 72.6%
1229|IUFZ & Wiz R 19,756 72.3%
1230| R &R Prth 4113 70.0%
1230/ ILOE THTh 4,720 70.0%
1230/ ILAE Ermmhm 10,232 70.0%
1233|EREE [FSDFM 2,303]  68.8%
12344818 HiEh 6,464  68.2%
1235|3k 88 & E AT 128 66.7%
1235(dtim8 O T=HHT 1528]  66.7%
1235/t 488 FALAF 342 66.7%
1235| R E A EHET 629 66.7%
1235(8% 2 JIE A BT 280 66.7%
1235|818 FRHET 501 66.7%
1235| EE IR FRiEh 3,327  66.7%
1235 ILAO 8 AT 687 66.7%
1243|258 SEAR T 5973]  65.0%
1244(F0FRILIE  [SKHET 744 61.5%
1245|3db:EE EFTET 92|  60.0%
1245(dtE8 5 JIIHT 687 60.0%
1245158 E 8 FAKHET 2,084 60.0%
1245|300 ILE  |$i=Th 1,818]  60.0%
1249| ER 12 HHET 3,454 58.3%
1250[f2a B 8 JI{RET 646]  57.1%
1251| =& 8 HET 2,752 53.8%
1252 ILAOE wamm 14,481 51.0%
1253|dbiEE |2 R ERET 235 50.0%
1253(dtE8 — ] 448|  50.0%
1253|3db:EE =kl 96|  50.0%
1253|dtiEE EXEES) 1,001 50.0%
1253|db:@E FZEHT 212]  50.0%
1253(dtiE.E )1 T 88|  50.0%
1253|dbiEE KET 394  50.0%
1253| 3k :E8 A EHET 323 50.0%
1253| 5 &8 HEEH 538  50.0%
1253| 5 &8 zapi=l:l] 503 50.0%
1253| 5 &8 —FH 557 50.0%
1253| =R KIERET 586 50.0%
1253| LAz 12 /NE BT 479]  50.0%
1253[f2 B8 e ETGER) 38 50.0%
1253|f2E 8 INEFHET 674  50.0%
1253[F@H 8 = AT 751 50.0%
1253 REFE {E ATEET 739]  50.0%
1253| REF IR AL Ft 207 50.0%
1253|F0ERILIE | JLEELLIET 228 50.0%
1253|[EE K 1,739 50.0%
1253|&FJIIE [=R=T0) 167 50.0%
1253488 FELHH 125]  50.0%
1275 B8 BER 32,104]  44.6%
1276|AJIIE mES 4459 43 5%
12774488 Bl 4462 42.9%
1278|=J)IIE  [F~EH 19,140]  40.6%
1279 EFHFE HRANET 773]  40.0%
1280(dk:EE T Al 1,094  36.4%
1280 =i 2 EXN=Ti 3,084  36.4%
1280| REF 12 aakaditl 3,314 36.4%
1283|db:EE ERHH 1,422]  35.7%
1283| KBR KT J\ETH 19,069]  35.7%
1285|db:EE BEEF 199]  33.3%
12851t:88 &l BT 213 33.3%
1285(dtE8 BRFRF 128]  33.3%
1285|3k:EE B ET 221 33.3%
12851t 8.8 ZYHHET 453 33.3%
1285(dtiEE [LERT 381 33.3%
1285(dt3m38 5 FIEAT 413]  33.3%
1285| 2F & ERHET 1,050 33.3%
1285|fEE 18 AEBh BT 264]  33.3%
1285(FEE # I ET 321 33.3%
1285|3818 BT 706 33.3%
1285\ lLOE - BHHET 99 33.3%
1285[RERIE HEM 297]  33.3%
1298|EREE [$AET 7,015  31.8%
1299|F0ERILIE  |BHEJIET 594|  30.8%
1300[f2aE 8 A= 2,533 30.0%
1300/ lLAE Fh 2,585  30.0%
1302 LU E e 8,719 29.7%
1303[dtiEE E AT 631 28.6%
1303|f& [ IR JKES BT 2,055]  28.6%
1305|3838 B = B FHET 173]  25.0%
1305| EHE LS EH 2,080]  25.0%
1305\ I8 =JI|HT 592 25.0%
1305[f@ & FxHT 3,369 25.0%
1305[f&@ ] R ERH 1,016 25.0%
1310/ lLaE FEH 11,560 22.2%
1311|f& R 1Bt 8,811 21.7%
1312(dtEE IMETH 6,158  20.7%
1313[dtiE8 X1 ET 408|  20.0%
1313[dtim:E = B FFHT 379]  20.0%
1313[dtiEE =IF 223]  20.0%
1313/dbiEE =R HET 571 20.0%
1313| FHFE ik I} T 1,052 20.0%
1313|IU B RILHT 514 20.0%
1313|FBIE ] 25 T 446]  20.0%
1313[f@aHE 7K 3 HT 1,393  20.0%
1313|IK B8 il = BT 1,201 20.0%
1322(dtEE ] 3,531 18.8%
1323|ERER [fAZEM 1,185 18.2%
1324]37:8 182 =% 6,782 17.9%
1325(dtEE FEH 2237 16.7%
1325|FHFE Fes BT 784 16.7%

REEAEL FRICEITDELRICTIRIEDE[HFRR (3)

13/18



REEAEL FRICEITDELRICTIRIEDE[HFRR (3)

D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA IREAFHR %
1325| B R B A BT 307 16.7%
1325 #4818 [EEEH 364 16.7%
1329|$1B 18 HE@AT 7.148]  16.0%
133048 FEMT 1,672 14.3%
1330/ 5 &HE A FHET 923 14.3%
1330[ LUz I8 JII R ET 996 14.3%
1330 |12 IR [it] 15 BT 2,662 14.3%
1334| 2R 2 7626]  13.3%
1335[dtiEE 7l 5 BT 1,267 12.5%
1335| E1RIE S EH 338]  12.5%
1335[f2[ & = Hr 4420 12.5%
1335/ R $5FHT 1,099 12.5%
1339/dbiEE HSHET 830 11.1%
1339|1288 | AHET 909 11.1%
1341|db:EE BT 499 10.0%
1341|5F & [ERI= T 1,025 10.0%
1341 (LR ELES) 663 10.0%
1341[f2M 8 G 2,735 10.0%
1345E5 8 EiZEm 9,757 9.4%
1346|FAHIE it 1,501 9.1%
1346| BR IR =Xl 709 9.1%
1346 ILAOE BB K EET 610 9.1%
1349| 5 HF 2 =R 3,120 8.3%
1349| B1EIR B T 781 8.3%
1349 fEIE pfET 14,215 8.3%
1352| EHE +FHEH 4,029 8.0%
1353|5F 8 dt EH 7,325 7.7%
1354 §B IR RiEH 5,002 7.1%
1355|FAEHIR MEE 20,681 6.5%
1356| 12 HFRIIERET 3,199 5.9%
1357|238 ElE 4,186 5.6%
1358|E LR == 22 241 5.4%
1359|3b:@E gIEETH 10,833 4.9%
1360[F2aE 8 E%AH 3,230 4.2%
1360| REFE {EATH 7,608 4.2%
1362| B IE RiIGtHh 9,484 3.0%
136318 GG 12,377 2.4%
1364| =i 82 A& 9,887 1.9%
1364| Lz 12 A 18,473 1.9%

i

1366|3188 ek 42 441 1.8%

1367|LEE B 15,133 1.6%

1368(dtiEE Ei o 4819 0.0%
1368| 1t :EE HA™ 2,160 0.0%
1368| 1t 58 Ealh 549 0.0%
1368[dtiEE MEANTH 93 0.0%
1368/db:EE T 1,075 0.0%
1368(dtiEE FARITHET 233 0.0%
1368[dt 8 A RET 164 0.0%
1368|Jt:EE FHET 931 0.0%
1368|Jt:E& J\ZEHT 994 0.0%
1368|dt:E.& R ERET 283 0.0%
1368|dtfE.8 SLERT 378 0.0%
1368(dt:EE + / EHT 259 0.0%
1368/3k;EE Z ERET 195 0.0%
1368|dt:EE %A 61 0.0%
1368|Jt:EE = HNHET 723 0.0%
1368|dtE8 HERNM 43 0.0%
1368|dt:fE.E o FHT 135 0.0%
1368[dtiEE FRFIIAT 89 0.0%
1368|dtiEE ZHIIHT 273 0.0%
1368/3k;EE ERD )1 ET 117 0.0%
1368[dt 8 k4T 157 0.0%
1368| 1t :EE & 3 A1 BT 148 0.0%
1368|dt:E.& =T 138 0.0%
1368|Jt:fEE L ZEHT 94 0.0%
1368[dtiEE 5 R BT 429 0.0%
1368|dtiEE LE#R BT 226 0.0%
1368/3k;EE _EJIIET 157 0.0%
1368[dtE8 EX ) 232 0.0%
1368[dt:E38 M50 (R BT 112 0.0%
1368[dtim:8 1B EHT 234 0.0%
1368|dtfE.E INERT 172 0.0%
1368|db:EE # LAl A 57 0.0%
1368(dtiEE 1= Il BT 162 0.0%
1368|Jt:EE FLICHT 153 0.0%
1368|dtE8 PSR AT 57 0.0%
1368/dkiEE R ZR itA BT 433 0.0%
1368|dt:EE il 480 0.0%
1368(dtiEE ThHHHET 451 0.0%
1368|dt:EE S ERHET 362 0.0%
1368/3k;EE Fs BT 409 0.0%
1368(dtiEE B LUBT 224 0.0%
1368|dtE8 T hRHET 355 0.0%
1368[dtiE:8 EeiEHT 466 0.0%
1368[dtiEE FigHT 369 0.0%
1368[dtiEE SE7KHT 648 0.0%
1368[dtiEE EEIER 246 0.0%
1368|dt:EE =% 2,072 0.0%
1368dt:EE EEHT 169 0.0%
1368|db:EE ARl BT 367 0.0%
1368|dt:fE.8 REHET 461 0.0%
1368|db:EE 2 Il BT 143 0.0%
1368dtiEE Il % BT 1,268 0.0%
1368|dt:EE AR ET 425 0.0%
1368|dt:E.8 EER 192 0.0%
1368|dt:EE i ET 2,056 0.0%
1368| FFHFE shEIT 10,207 0.0%
1368 HEFHFE ERTH 1,978 0.0%
1368| T HZE e ni] 3,720 0.0%
1368| FHFE 2h 5T 1,881 0.0%
1368| EHFE I 2,087 0.0%
1368| BB ERHET 593 0.0%
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B 151 | ER1E FF I8 £ REEA IREEHEH %
1368| B HZE 5 Rl ET 64 0.0%
1368| B HZE EHM 183 0.0%
1368| SR 84 RHET 462 0.0%
1368|FHZE R m AT 324 0.0%
1368| FHZE mEEH 71 0.0%
1368| 5% 8 #E AT 822 0.0%
1368| T HZE F3 570 Hh T 753 0.0%
1368|FHZE tFH 891 0.0%
1368| F %18 7N HT 829 0.0%
1368|FHZE TR ET 238 0.0%
1368| 5 %8 BRALHET 1,089 0.0%
1368| B2 N 364 0.0%
1368|FHZE 1EFHT 83 0.0%
1368|FHE HFHT 270 0.0%
1368| EHFE I SRHT 1,024 0.0%
1368| S FH R i+t 109 0.0%
1368| 2 F 8 RE[E 21,732 0.0%
1368| =F 8 =T 3,145 0.0%
1368| 2F & Kingh 2,150 0.0%
1368| 2F & E&mH 6,678 0.0%
1368| 2F & —Bth 7,568 0.0%
1368| 5 F 8 Z—Eth 1,656 0.0%
1368|5F 8 J\IEFETH 1,385 0.0%
1368| 5 F 8 FER™ 4,868 0.0%
1368| 2F 2 SAEH 273 0.0%
1368|5F & LIRET 2,548 0.0%
1368/ 5F & FHET 238 0.0%
1368| 5EF & = RAT 461 0.0%
1368| EF 2 TR FT 148 0.0%
1368| 5F & B K HT 510 0.0%
1368|5F & —FHT 675 0.0%
1368| =i 182 SAWGE 3,601 0.0%
1368| &= i 12 AHEM 1,976 0.0%
1368| = ik 1B =8t 3,816 0.0%
1368| = i 12 B T AT 770 0.0%
1368 =ik 182 4B 64 0.0%
1368| = ik I8 Kn] R BT 1,980 0.0%
1368| =ik IE 1 EHHET 724 0.0%
1368| = ik I8 S HHET 2,750 0.0%
1368| =i I8 JI[ U BT 500 0.0%
1368 = E AT 737 0.0%
1368| = i 12 RFNET 2,593 0.0%
1368| =ik 12 £ FEET 505 0.0%
1368| =ik 182 AAHET 981 0.0%
1368| = i 1B S EHT 1,675 0.0%
1368| = i 1B A = BEET 722 0.0%
1368|FXHE BT 2,882 0.0%
1368 |FNHIE BFh 5,513 0.0%
1368|FXHE SR 2424 0.0%
1368|FAHAE B Eth 2118 0.0%
1368[FXHIE Kl 4,940 0.0%
1368[FXHIE ANES 1,494 0.0%
1368|FXHIE YN OIS 78 0.0%
1368 |FNHIE EEXN 146 0.0%
1368 |FNHIE —iEm 798 0.0%
1368|FNH 2 )\ & HT 202 0.0%
1368|FAHAE F ik B BT 400 0.0%
1368|FXHIE J\ER ;5 T 292 0.0%
1368|FXHIE 3t 1| BT 231 0.0%
1368|FXHE KM 243 0.0%
1368|FNHE el 1,159 0.0%
1368[ LIz 2 ET 2,506 0.0%
1368| LUz I8 EiER™ 953 0.0%
1368|IUFZIE 781 T 283 0.0%
1368[ LUz I8 g HHET 378 0.0%
1368| U2 K& HHET 398 0.0%
1368| LAz I8 WAL 773 0.0%
1368|1EE IR SEEWT 8,426 0.0%
1368|128 HEM 2,790 0.0%
1368|1252 — ARt 3,682 0.0%
1368|1252 HAtTH 2,394 0.0%
1368|1258 XEH 349 0.0%
1368|1E B8 T4ERET 312 0.0%
1368|128 BSE 917 0.0%
1368[F2E 8 g E A 170 0.0%
1368|1218 AT 293 0.0%
1368|1218 ksl 250 0.0%
1368|2212 H;ERT 208 0.0%
1368|1258 =5 57 0.0%
1368|1218 £ ILHET 57 0.0%
1368|1218 RIS 38 0.0%
1368|1218 PR 1,682 0.0%
1368[F2 B8 F B 401 0.0%
1368|1218 =t 1,091 0.0%
1368[F2aE & RERHT 383 0.0%
1368[Fa B2 = [F AT 57 0.0%
1368[faE 8 KA 10 0.0%
1368|1EE 12 WEERT 36 0.0%
1368|tE B 12 BEEH 12 0.0%
1368| &R im 12 =R 1,751 0.0%
1368 |k ik 1B REEIEH 4916 0.0%
1368| ki 12 BET 1,851 0.0%
1368| ki 12 NTHADSIHTH 2,916 0.0%
1368| &k i 12 IAm 2133 0.0%
1368| kiR 12 K HT 1,025 0.0%
1368| %I IE b 1,082 0.0%
1368 |ZR I IE R-FHT 808 0.0%
1368 |k ik 1B EEM 917 0.0%
1368|HF AR IE =Fimtl 4,909 0.0%
1368 |15 A B AHART 5,231 0.0%
1368 [HF A I8 RAHT 717 0.0%
1368|fF A I h B HT 825 0.0%
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B 5z | &8 HF 12 4 HEEA IREAFHR %
1368|#F K2 FHEH 1,225 0.0%
1368|#E R IR AR ZEHT 1,351 0.0%
1368|BH IR Bt 69 0.0%
1368|B IR iR AT 44 0.0%
1368|BEE IR B 26 0.0%
1368[FEE R H ZEHT 882 0.0%
1368|BEE IR 2z &EHT 910 0.0%
1368|FEE 2 R FF[HET 300 0.0%
1368| B HE IR EAAT 593 0.0%
1368| B IR BEET 312 0.0%
1368[FEE R = Wt 227 0.0%
1368|BFE IR B 721 0.0%
1368|FEE R PR BRERAEES 435 0.0%
1368\ E IR {THET™H 5,404 0.0%
136815 E 2 E XN 6,565 0.0%
1368[1FE 2 EHBEHh 15,693 0.0%
1368|1518 LrEH 16,739 0.0%
136815 E I8 i 10,989 0.0%
1368\ E IR G 5,400 0.0%
1368\ E IR J\iEth 6,433 0.0%
1368|153 E 12 =1tk 3,926 0.0%
1368|155 F 12 FE 4122 0.0%
1368[1FE 2 =FHT 2,985 0.0%
1368|155 F 12 5 A T 636 0.0%
136815 E I8 /NI BT 1,555 0.0%
136815 F 2 JI| E BT 1,231 0.0%
1368\ E R & RHET 1,019 0.0%
1368| FER gElLTH 2,822 0.0%
1368| FEE B 760 0.0%
1368| FEE =2h 2,482 0.0%
1368|FEE =0 3,356 0.0%
1368 FEE WT HH 2,159 0.0%
1368| FEE N+ EH 794 0.0%
1368| FER —=Hr 971 0.0%
1368| FEE RER 877 0.0%
1368| FEE Kl 374 0.0%
1368| FEE XL EH 489 0.0%
1368|FEE EEEL 273 0.0%
1368| FEE SEEA AT 336 0.0%
1368| FEE fEEREE 39 0.0%
1368 | &R INETH 14,386 0.0%
1368 | B AR BT 5,405 0.0%
1368 | B IR AR FEm 7,695 0.0%
1368 | R EAR KEHT 452 0.0%
1368 | &R FEF 39 0.0%
1368 | R AR FEM 164 0.0%
1368| =R HEE 163 0.0%
1368 | B I #R == 123 0.0%
1368 | B IR AR il g S+ 36 0.0%
1368| TR J\CHT 476 0.0%
1368 | R AR ErEH 10 0.0%
1368 B #R INERAT 253 0.0%
1368[EJIE  [=FEmH 2,262 0.0%
1368| IR  |FE)IHT 3,836 0.0%
1368|ZEJIIE  |Z)IHT 2,774 0.0%
1368|WEJINE  5FIF 201 0.0%
1368|3818 A 1,581 0.0%
1368|#:8 18 fEmH 3,419 0.0%
1368|3188 AR 3,185 0.0%
1368|FmB 8 % ¥ 2,880 0.0%
136838 EEH 3,232 0.0%
1368|112 ECEEMT 1,259 0.0%
1368|FTiR R H E IS BT 234 0.0%
13688 N AT 337 0.0%
1368[FTia R ESIIEE 297 0.0%
1368|FTia R EERH 30 0.0%
1368|ELE = 11,186 0.0%
1368|AJIIE b5 SNl 604 0.0%
1368|HJIIE TE4:) 717 0.0%
1368|HJIIE I EE & HT 1,318 0.0%
1368[f@H 8 i=banit] 19,849 0.0%
1368[f@H 8 KEFmh 2,158 0.0%
1368t R BT 1,510 0.0%
1368|182 H IR RFTH 7,444 0.0%
1368[f@H 8 A EHET 117 0.0%
1368[f@H 8 SR ET 1,165 0.0%
1368[LLUFI I8 Pl 2,383 0.0%
1368 REFIE & 3,428 0.0%
1368 REF & SRET™H 7,913 0.0%
1368| REFE AR 3,879 0.0%
1368 REFI2 FHmh 4372 0.0%
1368| REFI2 /N ET 155 0.0%
1368| REF IR JILEFE 255 0.0%
1368| REFE B 214 0.0%
1368| REFIE RN 35 0.0%
1368| REFIE LB ARFT 52 0.0%
1368| REFIE ELTRHE 1,083 0.0%
1368| REFE = AT 1,212 0.0%
1368| REFIR BaT 5 44 534 0.0%
1368| REFIE ELM 20 0.0%
1368| REFIE RPN FT 43 0.0%
1368| R TIEA 302 0.0%
1368| REFE KEEH 31 0.0%
1368| REFE REM 111 0.0%
1368| REFIR s ol 586 0.0%
1368| REFIE KEEH 61 0.0%
1368| RFFIE FEN 22 0.0%
1368 REF & REH 173 0.0%
1368| REFE /NF i BT 910 0.0%
1368| RFFIE = LA 496 0.0%
1368| REF IR INIFE 119 0.0%
1368| REFE EH 62 0.0%

B A AR GL

ERIZHITHERICTIR

16/18

BROERINT (3)



REEAEL FRICEITDELRICTIRIEDE[HFRR (3)

D ERRBERIE AT LEHEE R4.31IH7E
B 5z | &8 HF 12 HEEA IREAFHR %
1368| REFIE INEET LA IR AH e 111 0.0%
1368|IK E 12 EET 3,004 0.0%
1368 B IR JI3 BT 801 0.0%
1368|IF B 12 EA=IIIES] 117 0.0%
1368|I B 15 DG L 164 0.0%
1368 | 5% R sl 11,471 0.0%
1368 | B8 IR {EN AT T 2,084 0.0%
1368 | B8 [E IR WAE TR R ERE s 365 0.0%
1368|ZH1E 5% ZEHT 223 0.0%
1368|Z41E B HT 164 0.0%
1368|511 AT 47 0.0%
1368[=F 2 FEH 9,120 0.0%
1368| =& 12 ¥ABR 12,152 0.0%
1368| == IE fEE™ 5,896 0.0%
1368|=F 2 EEh 959 0.0%
1368|=F 2 gluh 4,224 0.0%
1368| =& 12 ERH 993 0.0%
1368[=F 2 AEFrTh 983 0.0%
1368[=F 2 FET 6,201 0.0%
1368| == 12 R & I HT 379 0.0%
1368|=F 12 REH 530 0.0%
1368 =F 12 ELH 574 0.0%
1368|=F 2 $cdLET 802 0.0%
1368[=F 2 fiEJEC BT 563 0.0%
1368|=F 2 fCEHT 748 0.0%
13685 & 182 EX 6,605 0.0%
13685882 KEmH 3,068 0.0%
1368 E B EEH 1,030 0.0%
1368 | RERKT =5 Al 954 0.0%
1368 | RARKT HiE™H 5,353 0.0%
1368 | &R AT KR 6,710 0.0%
1368 | R &R AT HFHT 418 0.0%
1368 | ABKT A HIEE 643 0.0%
1368 | AR AT HERINLEES 312 0.0%
1368| KPR KT EMAETH 15,734 0.0%
1368 KB FF HiFm 6,928 0.0%
1368| XBRKF EHEMTH 7,363 0.0%
1368 KB AT BRI 15,818 0.0%
1368 KB AT FREFH 7,656 0.0%
1368 KB AT FMEM 7,150 0.0%
1368| KBRKT BEHFTH 4,574 0.0%
1368 KB FF RE™ 4,699 0.0%
1368 KB fF B ARHT 2,771 0.0%
1368 | KB fF syl 1,227 0.0%
1368| KPR KT \WER FT 791 0.0%
1368| EEIR BAT 24,892 0.0%
1368| EEE WATH 2,785 0.0%
1368| EEIE FHE#Z L 2,999 0.0%
1368| EEEIR BX™ 1,558 0.0%
1368| R E IE-siait] 3,973 0.0%
1368/ =RIE ERE S 1,711 0.0%
1368| ZEB IR el 1,202 0.0%
1368| =R E Fheth 1,661 0.0%
1368| ZRIE = v T 430 0.0%
1368| ZEIE BEEHN 354 0.0%
1368| =B L 4ET 1,397 0.0%
1368/ =RIE FFH 1,956 0.0%
1368| =R E [ B BT 3,064 0.0%
1368| =R E IS HT 1,056 0.0%
1368| ZERIE =Eod:0 265 0.0%
1368| ZRIE KiEET 1,115 0.0%
1368| =B Trfr 209 0.0%
1368| ZERE ESECHIES) 9 0.0%
1368/ =RIE T2 5 146 0.0%
1368| =R E TAL LAt 31 0.0%
1368| =R E Nt |41 D) 7 0.0%
1368| =R E JIl E4F 40 0.0%
1368| ZRIE B FHH 50 0.0%
1368(F0FRILIE  |ENFEgHT 582 0.0%
1368(F0FRILIE AR BmET 866 0.0%
1368\ F0FRILIE | A HBET 121 0.0%
1368|F0FILIE  [dbLst 26 0.0%
1368| B1RIE JEHET 3,667 0.0%
1368| BRI KHET 2.364 0.0%
1368| 1R IE REt 2,766 0.0%
1368| E1E IR iLES 1,512 0.0%
1368| ER IR JIIZ<HT 186 0.0%
1368 &R 2 S ERET 324 0.0%
1368| BR I8 e ES L) 390 0.0%
1368| ER 2 ELTHT 161 0.0%
1368| 1R IE 7a/ BT 159 0.0%
1368| 1R IE P 33 0.0%
1368| E1E IR ETOYET0) 967 0.0%
1368 LIS SR ETET 974 0.0%
1368 [ L2 AEESH 118 0.0%
1368|[EE L& 100,898 0.0%
1368|[LER R 1,354 0.0%
1368|[LEER 2l 36,816 0.0%
1368|[LEER fFpth 2,501 0.0%
1368|[5 &8 =Rt 3,640 0.0%
1368|[LE R AE ETHT 1,889 0.0%
1368|[LER IR T 1,096 0.0%
1368|[LEE TEAXHHE 312 0.0%
1368|[LEER K _E ST 307 0.0%
1368|[LBIE 1t ZE T 1,038 0.0%
1368(LLAE e 3,256 0.0%
1368|&JIIE =EBFm 2,270 0.0%
1368|&JIIE il 4071 0.0%
1368|FIJIE T EHET 768 0.0%
1368|FJIIE ING BT 792 0.0%
1368|FJIIIE = KHET 2,241 0.0%
1368|&FIJIE ZHr 497 0.0%
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B 5z | &8 HF 12 HEEA IREAFHR %
1368|FIJIE L 2R 1,635 0.0%
1368| =R 1R FARIET 2,520 0.0%
1368|Z1E 18 FAHHET 424 0.0%
1368|fafH & BEAH 4593 0.0%
1368|f2 [ E RiFETH 9,930 0.0%
1368|f@fH R =G 3,634 0.0%
1368|fafH R INEBTH 5,190 0.0%
1368 |12 IR REHH 9,089 0.0%
1368|faH & Bt 11,132 0.0%
1368[f@H & AERTH 6,461 0.0%
1368|1212 =Hh 2,651 0.0%
1368|fafH R g™ 3,937 0.0%
1368|fahH R FB3a[) 1| 5,052 0.0%
1368|fafd & EELN) 2,846 0.0%
1368 |12 [E IR A LLET 956 0.0%
1368|fafH & FaE BT 5,065 0.0%
1368|fafH & =BT 1,559 0.0%
1368[f@fH & INPTET 387 0.0%
1368|fa ] R )BT 990 0.0%
1368 | & & RIEH 126 0.0%
1368 |12 [E IR K TI 5T 1,307 0.0%
1368|faH & [ )1 BT 1,697 0.0%
1368|fafH & EE&EH 737 0.0%
1368 |t & 7 EHET 588 0.0%
1368|fafH & S HHET 756 0.0%
1368|fafH R J1] i BT 1,115 0.0%
1368 |12 IR sl 262 0.0%
1368 |12 IR =g 1,842 0.0%
1368|1212 A CHT 1,224 0.0%
1368[1EE 8 oy BET 1437 0.0%
1368[1EE R %iEaT 419 0.0%
13681 E IR ;TACHT 830 0.0%
1368[{EE 8 =k 1,708 0.0%
1368| RIFIE {ERS 19,425 0.0%
1368| RIGIE BT 10,929 0.0%
1368| RIFE ¥R 1,734 0.0%
1368| RIFIE EEWH 2,358 0.0%
1368| RIFE EERT 3,074 0.0%
1368| RIFE it ER 1,035 0.0%
1368|FEARIE LXEmH 1,671 0.0%
1368|REARIE [EalEslin 577 0.0%
1368|HEARIE FIMET 1,141 0.0%
1368[REAR IR F/KHET 623 0.0%
1368[REAR IR ELUF 102 0.0%
1368|REARIR {EN i BT 1,434 0.0%
1368[RERIE = ST 1,013 0.0%
1368|REARIE R { BT 825 0.0%
1368|HERIE |LIZBET 824 0.0%
1368|HEARIE LT 359 0.0%
1368|RERIE e 4] 501 0.0%
1368| EIFE El G 1,281 0.0%
1368| = I 12 EIERET 270 0.0%
1368|EERER |HKmM 4817 0.0%
1368|EIREE [BEEJIAST 7,882 0.0%
1368|EERER |BR™ 2,392 0.0%
1368|EREE |WaEEXFH 1,935 0.0%
1368|EIREE [=ZBF# 80 0.0%
1368|EIRER [+ BE% 112 0.0%
1368|EIRER [HER 589 0.0%
1368|FEIREE  |SR/THT 485 0.0%
1368|EEIREE  [FaAFRAT 393 0.0%
1368|EIREIE  |FFHHT 990 0.0%
1368|BERERE |MmiEF 459 0.0%
1368|BIRER [XF+t 86 0.0%
1368|EIRER [FH&+ 122 0.0%
1368[EEIREE  [{RUET 698 0.0%
1368|EEREE | 5imAT 493 0.0%
1368818 KEKF 213 0.0%
136848 R SIRIZFT 861 0.0%
13685818 B ER 753 0.0%
13685818 Jt At 1,766 0.0%
1368;hf818 R 90 0.0%
136844218 5 R ok 108 0.0%
1368818 EEH 53 0.0%
136844218 EREMN 21 0.0%
1368545818 BAXEM 128 0.0%
1368 fEIE S XEH 52 0.0%
1368|;h42 18 FEEFR 129 0.0%
1368|1428 Z Bt 99 0.0%
13685818 L=l 451 0.0%
1368[;fE R 5 3R = BT 174 0.0%
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